Hi Fernanda,
 

Here is what I have learned after making some simplifying assumptions.
Nitric acid
I assumed the volume is up to 1 atmosphere: 
The volume of air between the window and the end of absorber is ~7.5 cf.
400 MeV protons lose 0.083 MeV in a 3 mil Ti window or 0.277 MeV in a 10 mil window.
:. the energy loss in the window is relatively insignificant.
 

Using average annual humidity of 35% and an average temperature of 64 F. you have 
   1.14 grams of moisture in the pipe volume. 
 

The 400 MeV protons will lose 1.81 MeV in air. 
This produces 2.60E-18 gram/proton of nitric acid. 

4 minutes of study/shift corresponds to a maximum of 1.56E16 protons/shift
This corresponds to 40.5 mg of nitric acid per study. Therefore the pH of 
the moisture will be 0.25! very high, if this acid covers the window for a long time and 
the window temperature is about a 1000 F, it will start to slowly corrode the window. 
 

however; 
An average roughing pump runs about 10 cfm, which means is 4 minutes the volume is refreshed 
about five times. Therefore in a study period you only have about one minutes of buildup time.
If the window gets very hot and this moisture still condensates, you may still get a little corrosion, 
but there is 66 ms between the pulses and it takes less than a few ms for the window to lose that beam 
induced heat by radiative cooling. 
 

Conclusion: keep the rough pump going. It does not matter if the pressure gets to 1 atm. while the pump
            is running. The oxide on the window helps to protect the window. For the window material it 
            is best if ASTM grade one, Commercially Pure (unalloyed) titanium is used.

 

Tritium
Because the 400 MeV goes through 205 inches of air there will be additional secondary sprays, but the additional 
amount of tritium is very small compared to that being produced in the absorber. This configuration change will 
not cause any groundwater issues, beyond that associated with the absorber.
 

Please let me know if you had any questions about any of the above.
 

Cheers,
Kamran
